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4. What gametes are possible from the individuals with the following alleles? a) AaBb
b)CCDd  c) EeFF
d) GGHH e) JjKk

5. Dark hair is dominant over blonde hair, and a widow's peak hairline is dominant over a
straight hairline. If two people who were both heterozygous for both traits had children,
what is the phenotype ratio for the possible offspring?

6. In rabbits, the allele for short hair (S) is dominant over that for long hair (s). In
addition, some rabbits are black white others are brown. When a black short-haired
rabbit is mated with a brown long-haired animal, a black short haired offspring is
produced. a) Based on the above data, what hypothesis could you make concerning black
and brown alleles with respect to dominance? b) If two black, short haired F1 offspring
from the original parents were mated and produced at least one brown long-haired
animal, how would this data support or alter your hypothesis?

7. In rabbits, spotted coat is dominant to solid, and black is dominant to brown. A brown
spotted rabbit is mated to a solid black one, and all the offspring are black-spotted. What
are the parents genotypes? If two of these black spotted rabbits were mated what would
their offspring look like?

8. The long hair of Persian cats is recessive to the short hair of Siamese, but the
black coat of Persians is dominant to the brown and tan coat color of Siamese. If
a pure black, long-haired Persian is mated to a pure brown and tan short haired
Siamese, what will be the appearance of the first generation? If two of these cats
are mated, what is the chance that a long-haired, brown and tan cat will
be produced?

9. In pigeons, the checkered pattern is dependent on a dominant gene C and plain on
the recessive allele c. Red color is controlled by a dominant gene B and brown by
the recessive allele b. Diagram complete completely a cross between
homozygous checkered, red and plain brown birds. Summarize the expected F2
resuits.

10. Male, checkered, red birds with the genotype CcBb were mated with females with
the following gentypes :
a. CCBB
b. Ccbb p.
c. CcBB
d. Ccbb
e. Summarize the expected first generation results of eachcross.

1$. In cats B= brown hair color, b=white hair color, S= short hair and s=long hair. Make a punnet

square for the following crosses:
a) BbSs x bbSs b) BbSs x BbSs ¢) BBSS x BbSS |
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both Aa Bb Ce, what is the probability of their producing an offspring with all 3 recessive
traits? What is the probability of producing an offspring with the phenotype 4-, bb, C-?

‘& In Mexican Hairless dogs, hairless is dominant over normal hair. If heterozygous
Mexican Hairless dogs are interbred, the puppies show a ratio of 2/3 hairless to 1/3

normal (have hair); in addition. some deformed daad nunies are also born. Propose

 explanation for this outcome, and outline how you would test your explanation.




[image: image3.jpg]13. (3 pts) A man with the rare recessive disease phenylketonuria (PKU), who had been
treated with a diet having low levels of the amino acid phenylalanine, was told that it wa
unlikely his children would inherit PKU because his wife did not have the disease.
However, their first child had PKU. What is the most likely explanation? Assuming this
explanation is true, what would be the probability that their second child would have
PKU?

R . e
squash fruit is dominant over white fruit. A white-fruited squash
» Hin s fruited plant, and of 56 offspring, 26 had yellow

Jant is crossed with a yellow- :
lf’ruits' What was the genotype of the yellow-fruited parent plant?

J|$. In snapdragons, broad leaves are TACOTpIETely Gormant over natrow leaves.
The heterozygous condition is intermediate in leaf width. Show the genotype and
phenotype of a cross between a broad-leafed plant and a narrow-leafed plant. Carry

the cross further to show the F2 types.





